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1. In Haryana, Teej festival celebrated on 17 st 4 s %1 =ien % &=
the third of 1 i i 5 e
In'the ot of TP OISR Hights v ) gl ) S |
(A) Chaitra (B) Vaishakh (A) = (B) 3@
(C) Sravana (D) Bhadrapada (C) #rEw (D) Wz

2. is kept under kerosene to prevent | 2. aﬁgdzmsﬁiﬁ A & o Fd=
accidental fires, Tan S R |
(A) Aluminium  (B) Zinc (A) Tyt (B) v
(C) Iron (D) Sodium (C) (D) wifgam

3. BCD,_____ BCD, B,CD,BC,D. 8~ B,CD, BCD,, B,CD, BC,D.
(A) B,C,D (B) BC,D (A) B,C,D (B) BC,D
(C) B,C,D (D) BCD, (©BCD (D) BCD,

4. Which are the alloys of brass metal ? A F-3 drae Mg F ug R 7
(A) Copper and tin ' (A) afay s fem
(B) Copper and zine (B) afen 3f s
(C) Copper and lead ¥ Q\dﬂ s drmn
(D) Copper and nickel Y atan ofw e

5. What is the name of parallel block ? 6" TR wE T A 7

//\
B
(A) Solid parallel block (A) B FHIT TE
(B) Tenon parallel block B) I .u'g 2
(C) Angular parallel block © mmmqu :
(D) Adjustable parallel block D) b

6. What is the name of gear mechanism ? 6. frtyomeh w7

(A) Mitre gear

(B) Bevel gear

(C) Rack and pinion

(D) Worm and worm gear

A

—
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10.

ll.

12.

13.

The last Pallava Ruler was
(A) Dantivarman

(B) Nandivarman I11

(C) Mahendravarman I1
(D) None of the above

The first Non-aligned Summit was held
in 1961 at

(A) Dhaka

(C) Bangalore

(B) Delhi
(D) Belgrade

Where is the National Dairy Research
Institute (NDRI) located in Haryana ?
(A) Faridabad (B) Karnal

(C) Jhajjar (D) Hissar

Which stake is used to form an arc of a
(A) Funnel stake

(B) Hatchet stake

(C) Half-moon stake

(D) Beakor Bick iron

Which of the following proteolyti- gme
of the stomach converts prr .8 into
proteoses and peptones 7 -

(A) Pepsin

(B) Maltase

(C) Amylase

(D) None of the above

Which comparator is used in mass
production ?

(A) Optical (B) Pneuma_tic
(C) Electronics (D) Mechanical

This lake is located at Thanesar of
Haryana. It is also mentioned in
Kitab-ul-Hind. Identify the lake.
(A) Brahmasarovar lake

(B) Sannihit sarovar lake

(C) Surajkund lake

(D) Badkhal lake

=

14/2019 (23)
Jfem yeera e HiA 91 7
(A) #diada
(B) i et
(@) wEzad fidra
(D) 390 | & Fr§ &
8 veen ey fira aeeR FEl SEifEa
fFnmn e ?
(A T @) feweh
(C) Freir (D) Ferire
8. T T SgEa §E4H (NDRI) gfEmn
Tl e ?
(A) HiiEmas (By AT
(C) F= () fean
10. ahew wﬁnmmqﬂ-ﬁﬁ

(D) & fors =i

Mﬁq&r&uﬁ%aﬂ:—%ﬁﬁzwm&m
vsgH, WA @1 wifeafew ot v |
q&uﬁamt?

(A) fE=

12, ¥&d JeEA § B - gertm e g 2 7
(A) Hif2wa (BY a4

(C) Teragiad (D) T

szﬂﬂm%ﬁ ae b fEm R
Ja-fz i wam Iea i R |

aﬂm-ﬂlsﬁa%?

(A) FEEIT A

(B wf=ifEa wia e

(C) G=Fs =

(D) F2@a M=
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14.

lﬁ.

16.

5 iy

18.

19,

20.

21.

In a virtual memory system we call the
blocks of memory that can map as a unit

between physical memory and secondary
storage as

(A) Cache

(B) Pages
(C) Space

(D) None of these

What is the use of a try square ?
(A) To check right angle

(B) To check acute angle

(C) To check obtuse angle

(D) To check straight angle

Which among the following barrage is
built on Yamuna river ?

(A) Julbehra (B) Hathnikund
(C) Masani (D) Norana

At a game of billiards, A can give B
15 points in 60 and A can give C 20 points
in 60. How many points can B give C in
agame of 90 ?

(A) 30 points

(B) 20 points
(C) 10 points

(D) 12 points
What is to be done after dressir
grinding wheel to run concen’

(A) Truing (B) Glﬂmg
(C) Loading (D) Dressing
This dance is performed in Haryana on

the sixth day of the birth of a male child.
What is it known as ?

(A) Chhathi (B) Saang
(C) Chaupaiya (D) Gangore

In how many ways can a group of 5 men
and 2 women be made out of a total of
7 men and 3 women ?

(A) 63 (B) 90
(C) 126 (D) 135

How much copper contains in pyrites ore ?
(A) 0.15 (B) 0.32
(C) 0.5 (D) 0.45

14/2019 (23)

- ST HAF) SorTet 3 A i 5w
E gERd & s vhfen A 3R fda g
e v 7 % = o ufafefia = wwa @

(A) &3 (B) 7=
@ &= (D) % & %if e

1§, U 218 TR H W R

(A) TEF GE F g A

(B) 10T 9@l ©
(C) S o a1 FE 7\

(D) € 97 Il S N\

1( Frafafea # & #F-m &9 70 @ w

TR 7
(A) ey ® g b

17. FFHGAH A, BF 60T 15 3F 2

BalA CHeoH 20 IFITFAR |
B, C 3 &% & 3 907 & e s 2w B 7

(A) 30 3% 20 3F R
(©) 10 3= (D) 12 3%

18(" Tremd =16 % wika drem % for 3fém % ame

T FAn =g ?
(&) ZZn (B) wifam
(C) whfén @) fm

19, T8 wfn § wred & 9w w3 fm
PR Tm AT e ?
A) B3

(B) =m
_ (C) =t (D) TR
fﬁ. 5 el 3R 2 i v v A 7 S
3R 3 It & @ fF / F w
a7
(A) 63 (B) 90
(C) 126 (D) 135
a1l TER 9 | ram atm g 2 7
(A) 0.16 (B)0.32
(©) 05 (D) 0.45
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22,

23.

24.

26.

217.

28.

29.

This district of Haryana is having least
amount of forest in terms of area

(B) Jind

(D) Rewari

The Mughal ruler who had the title
‘Alamgir '

(A) Humayun (B) Aurangzeb
(C) Akbar (D) Shahjahan
What is the purpose of setting blocks used
in the fixture ?

(A) Position the balancing weight

(B) Position the clamp and locators

(C) Position the fixture on machine table

(D) Position the fixture and work related
to the cutter before machining

At Hanumanchatti of Haryana, Hanuman
Ganga merges with which river ?

(A) Krishnawati (B) Yamuna

(C) Dohan (D) Markanda

Which caliper is used to find thr
of round bars ?

(A) Inside caliper (B) Je caliper
-
(C) Vernier caliper (D) thide caliper

Borax is
(A) [B,0,(OH) J*
(B) Na,[B,0,(OH) ].8H,0
() Na,[B,0,(0H) )
(D) Na,BO,
Tipra hills is located North of which river
in Haryana ?
(A) Markanda
(B) Saraswati Chotang
(C) Yamuna
(D) Ghaggar
1* train in Haryana ran in the year
from Delhi to Rewari.
(B) 1867

(A) Gurugram
(C) Fatchabad

&

(A) 1857

14/2019 (23)

22, efhmn % 3@ foe # dave § SgER FEE
FHAAE
(A) T (B) Sife
(C) FdETEmR () @A

€5, e ) I TR FEET e e

Eack i
B) hoTEE

&) T,
(C) T (D) wvesret

fpaeat & seits 1 W@ H L@ ENR ?
(A) Hqerer wr ) feafa 3
(B) T 3 e 1 fedfa &
() Trrea =1 vl 7w feufa &
) Wi & g Fde § Heltud
T ofi = =1 feufa 3

. g s grren

(A) Fomaat (B) I

(C) B (D) AT#E

et @ 3 S 0 1 T o6 T, S el
- Y e @ 7

(A) oraf Ffem (B) St Hew

© aFmARm (D) T FAW

i ?
(A) [B,O,(0H) J*
(B) Na,[B,0,(OH),].8H,0
(C) Na,[B,0,(OH),]
(D) Na,B,0,
Toan vt famon # fFa & % s i
femd?
A) THE
(B) 0=l Bem
(C) Ig
(D) ¥R

wieamn 1 yee 9w e | o 9% = =
7 |

(A) 1857

(C) 1873

w

26,

é.

29.

(B) 1867

(C) 1873 (D) 1896

(D) 1896
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30.

31

32.

33.

34.

35.

The book ‘Gulamgiri’ was written by
(A) Jyotirao Phule

(B) Dr. B. R. Ambedkar

(C) M. K. Gandhi

(D) None of the above

A body is said to be in equilibrium. If all
full force acting on it

(A) are in the same distance

(B) are equal in magnitude

(C) have zero resultant

(D) can be arranged in pair

What is produced from blast furnace ?
(A) Pig-iron

(B) Cast iron

(C) Malleable iron

(D) None of the above

Select the numerical pair which is differs
from others.
(A) 110, 11

(C) 130, 13

(B) 90,9
(D) 2400
What is the minimum distance between

the rivets to drive the rivets without
interference ?
' (B) 2.5D

Qn (D) 3.5D

(C) 3D
What is the name of micrometer ?

=
(A) Depth micrometer
(B) Inside micrometer
(C) Vernier micrometer
(D) Outside micrometer

14/2019 (23)

80, Tt g freh v fer o ot 7
(A) Saifoma §a .
mﬁ‘f.a‘\. N, FATH
(C) uH. F. meht
(D) I F & T TE

. e =id
& m;ﬁmﬁm a
(A) T g W TEd &
(B) o e §
(Cy/aftomdt ¥ aren &
(D) 92 # =rafem frm s wwa R

9. I WE A TN IAEA Tar ® ?
@) f s

(B, 2ol el

) s s

/(D) 3909 0 & 18 T8l

3w I F1 g S aE § s @
fimd

(A) 110, 11
(C) 130, 13

A A e | AR IR

&

(B) 90,9

D) 2400, 24

3/ Fem i 3 e e s e e
Fafta g g am g ?

A) 2D (B) 2.5D

5. WIEHMIE 1 AW F § 7

|
(X et T
(B) HafeF wrgniiey
(C) gzt
(D) = A
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36. What is the system of lubrication ?

(A) Wick feed
(B) Ring oiling
(C) Splash system
(D) Manual screw down system
37. Which of the following is true about Loor
Dance of Haryana ?
(A) The dance accompanies a procession
(B) The dance is performed in pairs within
a circle

(C) The dance is performed outdoors by
men on moonlight nights

(D) It is a famous dance form of the
Bangar

88 Which file is used to make the job close
to the finishing size ?
(A) Single cut file (B) Curved cut file
(C) Second cut file (D) Double cut fil-

In how many ways can the letters
word ‘LEADER' be arranged ?

(A) 72 (B) 144

(C) 360 (D) 77

Which of the following is the largest gland
of body ?

(A) Thyroid gland

(B) Adrenal gland

(C) Liver

(D) None of the above

________are easy tospot because they
always contain an “at” (@) symbol.

(A) Website Address (B) LAN Address
(C) Email Address (D) Postal Address

Santosh Yadav is the youngest woman to
(A) Become Chief Minister of a State
(B) Climb Mount Everest twice

(C) Win gold medal in olympic

(D) Win gold medal in paraolympic

40.

41.

‘2.

-

14/2019 (23)

3¢ Trer i yorefi 7 & 7

gferon & e 372 & At # ffofaa 4 @
FH-TEAL?

(A) TE T4 78 & @1 T @

(B) W& Jeu T 3 sftere irg # fopan wmen R
(C) u% Jou Yol 7w wiet Tl § A o

oIl &
€D) T TR F T Vg 77 ¥R

387" Emwwﬁmmﬁqz

FRomwmmad? :
(A A B (B) T FE T
©) TR wRa (D) e TR wEA

387 W52 ‘LEADER & 3l =1 ffaeft wamt @

afeaa fFm S aFar & 7
(A) 72 (B) 144
(C) 360 D) 720

40, mmaﬁam-mmamm
?
(A) wrie ufa
(B) ufy
(@ 7%
(D) F9IF | | F1E T
a7 W wmETh @ ggAn S
Fifh T8 Hed UF “at”(@) Fa 21 8 |
(A) JTERE UG (B) O UGH
e uw (D) T=H UEH
. Tdm Trea el 998 A A
aften & | TREET i
(A) T T F qEa 3 aweh
(B) 3 @R A13T AR A Fredt
(C) 3Heifr & wavl 9aa T areh
(D) Yot § =l 2w o g
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43,

44.

45.

46.

47.

48.

Which gear run more silently ?
(A) Spur gear (B) Mitre gear
(C) Bevel gear (D) Helical gear

What is the name of the coupling ?

(A) Slip coupling

(B) Plate coupling

(C) Clamp coupling
(D) Universal coupling

The Arts And Cultural Heritage Trust
(TAACHT) has set up the world's

first Partition Muscum at Town Hall,

Amritsar, Punjab, India. Chalrman of
this Trust is

(A) Sunita Jain

(B) Preeti Singh

(C) Kishwar Desai
(D) None of the above

[

What is the name oftoolisus  _ support
the head rivet ?

(A) Dolly (B) Drift

(C) Rivet set (D) Rivet snap

A bag contains 6 black and 8 white balls.
One ball is drawn at random. What is the
probability that the ball drawn is white ?

4
) (B) e

0= &

3
C D) -
©) (D) =
Which is the oldest canal of Haryana ?
(A) Western and Eastern Yamuna Canal
(B) Jawahar Lal Canal
(C) Bhiwani Canal

(D) Gurgaon Canal

14/2019 (23)

mimafadsesa 2 ?
(BY Hiex fr
(D) tfeasa i

(A) B firm
(C) ¥a& fir

M o (Fafer) F1 AW T ?

m mumﬁaﬁﬂnhw

523 s

(A)lj:ﬂmaq

(B) sifa fér

(€ P durd

(D) 390 | F 18 3¢
/mﬁmﬁmﬁaﬁmmm

g

(A) =Teht (B)%‘E

(C) Fierh #2 (D) FrerF By
W%#ﬂﬂsmmsﬁaﬁﬁlmﬂ“ﬁ

A= ¥ A fewven st | Freprch

%ﬁaﬁﬁiﬁuﬁmm;?l e

(A) § ®) 4 ?

(C{l (D)
/m&mmmm-m?

(o af7t e el e v

(B) ST TS TR

(ORECICIE S

(D) Temia e
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49.

50.

51.

52.

53.

54.

55.

What is the unit of cutting speed in drilling
operation ?

(A) m/rev (B) mm/rev
(C) m/min (D) mm/min

Temporary hardness can be removed by
(A) Using washing soda

(B) Clark's method

(C) Calgon’s method

(D) Synthetic resins method

Where is the Indo-Israel Horticulture
Project established in Haryana ?

(A) Uchhamajra (B) Gurugram

(C) Ganaur (D) Gharaunda

Which are the fundamental building
blocks of all the complex digital logic
circuits ?

(A) AND, OR, NOT =

(B) AND, NOT, NOR

(C) XOR, NOR, AND

(D) NAND, XOR, NOR

Jhansi was merged with the Brit’
Administration in 1854 under the Pr-
(A) Subsidiary Alliance

(B) Doctrine of Lapse

(C) Dual Government

(D) Divide and Rule

What is the name of jig ?

(A) Box jig (B) Post jig
(C) Turnover jig (D) Sandwich jig

Ba'?hu Mool Chand Jain is famously known
as the

(A) Gandhi of Haryana

(B) First Chief Minister of Haryana

(C) Subhash Chandra Bose of Haryana

(D) Tiger of Haryana

4.

51.

52.

-

o

14/2019 (23)
IRFdATRA@EFR?
(A) /i @) fodt /oo
(@) H/fe () foedt/fore
5( el AR BRI &SR o aahdi € |
(A) HTaA HYeS1 H 54 H
®) T i fafy
(C) T i fafu
) Ffm tm fafy

YA -3 ArTaTt s s § Ful
wifafimEe?
(A) IS (B) TEIH
(@ TR (D) wifa
i A Fa-g1 o se fasem wifs
ufagi & smard feir s ® 7

D, OR, NOT

AND, NOT, NOR T

P ad

(C) XOR, NOR, AND

(D) NAND, XOR, NOR

w1 A 1854 ¥ fFw Aifa F Tea fafew
s # firen feran man an ?

(A) TETF I

(B) zﬁqmata
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56.

57.

58.

59.

60.

61.

Youare in a bus. The bus re
but still you have not pmaucs}:;lsglr::; :12;:::':
beca.uae of heavy rush. What will you do ?
(A) jump out quickly to avoid
embarrassment
(B) call the conductor,
o z}llnd (fe]t. the ticket
and the money to fellow pa
to buy ticket . pep—
(D) give money to the driver

give him money

— has been accorded the honor
of the ‘Surya Kavi' of Haryanvi music
genres Raagni and Saang.

(A) Dada Lakhmi Chand
(B) Kurmadas

(C) Surdas

(D) None of the above

Which of the following is the smallest
(Area wise) Union territory in India ?
(A) Lakshadweep

(B) Ladakh

(C) Chandigarh

(D) None of the above

Haryana was the 24" e in India to
fix minimum education qualification for
contesting in Panchayat Polls only after
(A) Andhra Pradesh (B) Karnataka

(C) West Bengal (D) Rajasthan

The book ‘A History of British India’ is
written by

(A) Balagangadhar Tilak

(B) James Mill

(C) Ramachandra (Guha

(D) Gandhiji

Zakir Rose Garden in Chandigarh is
situated at

(A) Section 1
(C) Sector 15

(B) Sector 3
(D) Sector 16

-10-

14/2019 (23)

55,/mqaaaﬁ§|mmfrma%\q§'aﬂit
A @ 3 il +fig T & F0T AT 30 7
T e el & g | S 0 F 7
(A) JeTE & T 35 o e 8 e 2 S
(B e T e 38 T 1 3R e o
) a7 A PR AT A
(D) TTEa 1 A 2 4

s i oh wi s i
faremait 3 fore o & a7 wwm fe rn 2 |
(A) TET TR =9

(B) Fwia™
(C) €™ -

Iq | 8 8 T8
zoﬁ\l{:r%ﬁaaﬁﬂm-m YA &1 §99 Biel

VT (dEwE ¥ gER) EemiE wew g ?
(Axa&ET
(B) wierE
(C) 9¥mg
D) 370 § A #E T

59. GEHd gATE e o fore <ran Neifirs srdar
Eiikeack:| % are wfmn wia w1
Pcickic k|
(A) 3119 waw (B) FAleH
(C) ufTam ama 1) T

fwia&@mmm'mm

foaimé ?

(A) TR e

(B) v e

(C) gwaz TRl

Dy

64. =2 T Wil = ey ifemd

(A) #7311 (B) &7 3
(C) #F 15 (D) =K 16
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62,

63.

66.

67.

What is the name of belt fastener ?

(A) Wire type belt fastener

(B) Lagrelle type belt fastener
(C) Crescent plate belt fastener
(D) Jackson type belt fastener

The bus incorporates a special
architecture that allows the video card
to access the system’'s RAM directly,
greatly increasing the speed of graphics
performance.

(A) Accelerated Graphics Port (AGP)

(B) Universal Serial Bus (USB)

(C) Peripheral Component Interconnect
(PCD)

(D) Data

What is the principle of micrometer ?
(A) Sliding

(B) Screw and nut

(C) Rack and pinion

(D) Worm and worm wheel

What is the purpose of type N twist drills ?
(A) Used for hard material

(B) Used for brittle material

(C) Used for soft and tough material
(D) Used for normal low carbon steel

United States of America launched its
invasion of Iraq under the code name
“Operation Iragi Freedom” in
(A) 2003 (B) 2006
(C) 1990 (D) 1992

Coins of Samudra Gupta period were
found in which place of Haryana ?

(A) Bhiwani (B) Sugh

(C) Mitathal (D) Sonipat

-11-

14/2019 (23)

e/ﬁﬂmﬁlmmwt?

(AY TR R 3 e
(B) Siet YR Y 98 FHeAl
(C) Fiz @iz ¥ wut
(D) SFEA WEHR H U FEA
17( w1 v fasw wea qaied g 8 S
e oz el i sreaedieh a@ia guAitedl
FéA e WoF g A R |
(A) ufFaetes mikad 912 (AGP)

(B) gfade i W USB)... e

) B2l

opa” wrgie  fagia w7

\ (A) TmgEn

B) Fa itz
() T 3i s

g/m)aﬁaﬂtaﬁd\a
. NyUE 3T s R e ?

(A) e vard & fore wga

(B) ¥t vad % fer g

(C) gz 3 F3R vard & fore vy
T fre FEe =i & fa vgaa

6. wYT TS e 3 “fateR W HE
¥ IS AN F d8d T0E 9T A1 ATFEAU F

= faFn ?
@ 2003~ (B) 2006
B/C) 1990 (D) 1992
. TR A T * s v & e w
aTe, 7Y, ?
) farh (B) g9
(o) (D) |HIgg

Downloaded from-www:.cclchapter.com

ML T Ul DS



Ll I

68. What is the unit of force in SI unit ?

(A) Kilogram (B) Newton
(C) Dyne (D) Pounds

1-12-91 is on Sunday. Which is the fourth

Tuesday of December 91 ?

(A) 17-12-91 (B) 24-12-91

(C) 26-12-91 (D) 31-12-91

What is the use of i

hod ol dowel in assembly

(A) Accurate positioning of two or more
parts

(B) Securing components together

(C) Eliminate the need for drilling

(D) Increase the efficiency of fit

Which chisel is used for cutting curved
oil grooves ?

(A) Flat chisel

(B) Web chisel

(C) Half-round nose chisel

(D) Diamond point chisel

Haryana's this fair is held in honr
the goddess of smallpox

(A) Gopal Mochan

(B) Surajkund

(C) Masani

(D) None of the above

How many districts i.
solar parks at present ?
(A) 19 (B) 18
(©) 21 (D) 20

6 persons A, B, C, D E and
'El%r?satrlﬁe sli;eter of F. B 1s the brother

d. D is the father of A and
-3 Ef;:liggﬁg:gf F. There are two fathers,

5:1!:38 brothers and a mother in the group.
How many male members are there In

g
g vl (B) Two

(A) One
(C) Three (D) Four

\What mechanism is used in the lever type
| test indicator ?
Screw and nut
Rack and pinion
Lever and scroll
Worm and worm wheel

70.

71

72.

73. ryana have

74.

75.

-12-

{f’ ';.;,y(qfefzn ) rs

20 AV AL
v ¥ )6 i;— n M T
2e 4k ar A A1 SV A 20

14/2019 (23)

ss./mmiiiaaaﬁ!m!;m%?
(A) Foetrom (B) FHA
(C) &1 (D) 9I38q
69. 1.12.01 F TEw @, @ R 91 F <
TeaT ) FH-d anE gt ?
(A) 17-12:91 (B) 24-12-91
_AC) 261291 (D} 31-12-91
70. AV A 1 g 1 F WA R 7
(A) 21 sfis st i e
(B) W1 1 O | Fiidrd T@
(C) Tz i ETEEa H e
) o5z A wfaan 1 7@
7 afera = @il & fore FA- 30 g
B R ?

HIR
(D) A= Fh
(C) ard ga Tifewr S
D) € fag 3t

2. et = e el S 0l & S § o §
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Which is a reference placed at the end of
a section or a document ?

(A) Footnote (B) Endnote

(C) Header (D) Footer

Which device holds, supports, locates and
also guide the cutting tool for operation ?
(A) Jig (B) Fixture

(C) Chuck (D) Machinevice
In Haryana existence of mango groves

attests its name to which of the following
city ?

(A) Karnal (B) Panipat
(C) Ambala (D) Bhiwani
The SI unit of power of a lens is
(A) metre (B) hertz
(C) dioptre (D) joule
What is the name of stake ?
(A) Horse (B) Bick iron

(C) Funnel stake (D) Creasing iron

What will happen if the clearance angle
of drill is more ?

(A) Cutting edge will be blunt

(B) Cutting edge will not be sharp

(C) Cutting edge will become weak

(D) Cutting edge will not cut material

Who among the following poets of
Haryana took active part in the Bhoodan
Movement to support Vinoba Bhave ?

(A) Leeladhar Dukhi

(B) Jaswant Singh

(C) Ishwar Chandra Panday
(D) Bhai Parmanand
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83. In the following question we have sentence
given in four parts. Read sentence to find
out whether there is any error in it,
The error, if any, will be in one part of

sentence. The alphabet of that part is the
answer.

I would occupy/myself with no more/
(A) (B)
important business/than with this

© D)

P d
84. Choose the most suitable antonym of the
given word UNFATHOMABLE
) Comprehensible

7

(B) Sinkaskic W BIRIE 55 e

(C) Uncomfortable

/&D) Infallible
5. Pick out the one which can sv’

e

the underlined group of word ectly,
without changing the mr 4 of the
sentence. .

Because of his poor memory e teacher has
advised him pot to refrain from cramming.
(A) to not refrain from

(B) to resort to

(C) to refrain from
,ﬁﬁ to be refrained from

8/ Pick out the nearest correct meaning
or synonym of the words given below.
IMMINENT
(A) Eminent
(B) Direct
(C) Future
(D) Impending
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